Schedule of Items Summary Sheet

Doris T S

Road Number	Cost without mobilization	Mobilization cost	Total road cost	C5.213 Engineering Services (15%)
1746-460	\$1,467.11	\$0.00	\$1,467.11	\$220.07
1746-707	\$17,332.80	\$8,091.12	\$25,423,92	\$3,813.59
1746-824	\$2,992.42	\$0.00	\$2,992.42	\$448.86
TOTALS	\$21,792.33	\$8,091.12	\$29,883.45	\$4,482.52

SCHEDULE OF ITEMS

DORIS TIMBER SALE

Cottage Grove Ranger District Umpqua National Forest Lane County

Road 1746-460

B-1-SCHEDULE OF ITEMS

ITEM NO.	DESCRIPTION	PAY UNIT	EST. QTY.	UNIT PRICE	TOTAL PRICE
203-01.1	Removal of metal culvert, (ditch relief)	*Each	1	\$184.13	\$184.13
209-59	Furnishing backfill material for pipe	Cubic Yard	5	\$24.94	\$124.70
251-01.3	Placed riprap, Class 3	Cubic Yard	2	\$34.44	\$68.88
251-10.1	Hand-placed riprap, Class 1	Cubic Yard	1	\$180.20	\$180.20
602-63.18	18" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	40	\$22.73	\$909.20

Payment will be made on actual work performed as described in FP-03 109.01 unless otherwise noted.

Construction cost without mobilization=\$1,467.11

C5.213 Engineering Services 15%=\$220.07

SCHEDULE OF ITEMS

DORIS TIMBER SALE

Cottage Grove Ranger District Umpqua National Forest Lane County

Road 1746-707

B-1-SCHEDULE OF ITEMS

ITEM NO.	DESCRIPTION	PAY UNIT	EST. QTY.	UNIT PRICE	TOTAL PRICE
151-01	Mobilization	Lump Sum	1	\$8,091.12	\$8,091.12
203-01.1	Removal of metal culvert, (ditch relief)	*Each	8	\$184.13	\$1,473.04
203-01.2	Removal of metal culvert (stream crossing under 10' at centerline)	*Each	1	\$316.24	\$316.24
203-01.3	Removal of metal culvert (stream crossing over 10' at centerline)	*Each	1	\$463.00	\$463.00
204-15	Unsuitable Excavation	Cubic Yard	40	\$17.36	\$694.40
209-59	Furnishing backfill material for pipe	Cubic Yard	50	\$24.94	\$1,247.00
251-01.3	Placed riprap, Class 3	Cubic Yard	24	\$34.44	\$826.56
251-10.1	Hand-placed riprap, Class 1	Cubic Yard	10	\$180.20	\$1,802.00
301-13.1	Aggregate Surface Course, Type ¾" minus, compaction method A.	Cubic Yard	32	\$25.46	\$814.72
602-63.18	18" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	264	\$22.73	\$6,000.72
602-63.24	24" aluminized steel, type 2, corrugated steel pipe, 0.064 inch thickness, Method B	*L.F.	136	\$27.17	\$3,695.12

Payment will be made on actual work performed as described in FP-03 109.01 unless otherwise noted.

Construction cost without mobilization=\$17,332.80

Construction cost with mobilization=\$25,423.92

C5.213 Engineering Services 15%=\$3,813.59

SCHEDULE OF ITEMS

DORIS TIMBER SALE

Cottage Grove Ranger District Umpqua National Forest Lane County

Road 1746-824

B-1-SCHEDULE OF ITEMS

ITEM	DESCRIPTION	PAY	EST.	UNIT	TOTAL
NO.		UNIT	QTY.	PRICE	PRICE
	Clearing and grubbing, disposal of tops and limbs 4, logs				
201-03	4, stumps 4	Mile	0.04	\$3,027.50	\$121.10
	Roadway excavation, compaction method C, finishing				
204-01	method A	Cubic Yard	190	\$12.87	\$2,445.30
301-13.2	Aggregate Surface Course, Type 3//4" minus, compaction method A.	Cubic Yard	17	\$25.06	\$426.02

Payment will be made on actual work performed as described in FP-03 109.01 unless otherwise noted.

Construction cost without mobilization=\$2,992.42

C5.213 Engineering Services 15%=\$448.86